AN =44k == .
SHSFE BAMRFERBEREAS FEXR
1 B B Sf545H9H (4)
2 & B RAbRERE BES
3 B 8 9:45 ek 10:00 BB
4 HEE
BFH&
s h—F A b 635 B = By s
’;I”‘ﬁ ey = Bk
2 3 3 M L OE K
3| |1 5| |0 B e e ks
A T e i |- 3 M TE AN E B PR
E%KFEE’» (%%L 5 LK W OJR PR
2 3
5 R | SNLREY — 7
3L
L Al A [ 1| 2| 3| AR | EAL
010
1 KR vt i 2-0 1
Y A A —_
2 Lo ooE 505 0-2 3
. |2]0 }
3 fcbes I 1-1 2
TE)—7 B| ks | 1|2 3| 4| 55| EN
A FRA4 L[ 2] 3| &% | Esz
s 1 =4 Q1010 3-0 1
— 570 5-0[4-1[3-1
=R 5050 20| ! 2| mm A AN N
B B 0-5 3-2[1-4
R AN R 3 g e 2 03 | 4
N6 1-4 2(—)3 = 0-5
3| BEE et 1-1 2 N j
0-5|4-1 4 | VERZEE oY VY 2-1 2
ZFHAE
s h—F A b 635 ® B = B PR
ZI% g W P
| ] 3 TR ZH PR
=B MEMR EE ERES 3 MHMAKT PEK
HRZE 78 Bl 2E
|
o s |
3 L E ik 3 fir
T —7 B R
A FA4 1| 2] 3| &% EN B A4 L2 |3 | &R |ET
_ . = O O _
1 =5 solsg] 270 1 1 JE i solso] 270 1
2| KHEE 0-2 | 3 o | wEr = “lo-1-1] 3
7 lo-3 1-2 7 0-3 1-1
S B _ 4 AlX —1-
3| MY 15T -1 | 2 3| MAPR 0-1-1| 2




SHSFEE PEMRPEREBEAERBTRE FEKXE
1 B B SRF5ESHIR (4)
2 5 Fr RAbiAERE wES
3 B 8 9:45 ek 10:00 BB
4 HE
BF2F%
I ® B = B
MR SR IR A R
3 Mk WO R
3 W ok e

SE >

= H 1]

w 55

-5

o HE 1] ———
o 5

b




